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MODEL QUESTION PAPER-5

Exercise

1. For the binary operation a * b = 3a + 2bfor a, b € Z test whether it is

associative.

o Watch Video Solution

2
2. What is the principal value of tan ! (ta,n(%>7

o Watch Video Solution
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cosa sina
3.If A, = [ ] , then what is the value of A, Ag.

—sina  cos o

o Watch Video Solution

4. If wis a complex cube root of 1then for what value of. lamda the

w2

=07

2

1 w
determinant | w A
w* 1

1
w

o Watch Video Solution

5. Write interval in which the function f(z) =sin"'(3 —z) is

differentiable.

o Watch Video Solution

6. Write the anti derivative of 2% + z ?

o Watch Video Solution



https://dl.doubtnut.com/l/_cH34uoVYI08H
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7. Form the differential equation from y = a cos ecz by elliminating the

arbitrary constant.

o Watch Video Solution

8.1f f(x) = \/x and g(z) = % then what is (g of) (x).?

o Watch Video Solution

_>
9. Write the angle between @ and b with magnitude /5 and 2

=
respectively having a. b = +/10.

o Watch Video Solution

10. Write the distance of the plane 3z — 4y + 12z = 3 from the origin.

o Watch Video Solution
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1. Find the least positive integer r such that 185 € [r],

o Watch Video Solution

12.If f: R — R is the function defined by f(z) = 42* + 7, then show

that f is a bijection.

o Watch Video Solution

13.if * is the binary operation on N given by a * b= L. C. M of a and b.

Find 20 % 16.1s * Commutative.

o Watch Video Solution

1 2 4
14. Show that 2tan_1(z> + 2tan_1<§> = tan ! (§>

o Watch Video Solution



https://dl.doubtnut.com/l/_s1Pc3BhPXUtb
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15. Prove that

l1+a 1 1 1 1 1
1 1456 1 :abc<1+g—|—3—|—z> or (abc + bc + ca + ab)
1 1 1+¢
° Watch Video Solution
1 a a®
16.Prove that |1 b % |=(a-b)(b-c)(c-a)(a+b+c).
1 ¢ &
° Watch Video Solution
-1 3 5
17.1f A = 1 —3 —5| thenshowthat A2 = 94
-1 3 5

o Watch Video Solution

_ 9
18.Iflm+y v ] X

2 2
= then find the values of x,y?
2z — y 0 0

[ & - |
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[ W Watch Video Solution

(a+1) 2 3
19. Show that (a + 1) is a factor of 1 a+1 3
3 -6 a+1

o Watch Video Solution

20. Find the value of a such that the function f defined by

sinaz 0
f(x) — { smx 1 z ;é

% if =0

is continuous at x=0.

o Watch Video Solution

21. Differentiate

tan - V1422 + V1 — g2
V1422 — V1 — 22

o Watch Video Solution
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22.If y = (sinz)” find (dy)/(dx).

o Watch Video Solution

23.Find the points on the curve y = 3 — 11z + 5 at which the equation

of the tangentis y = = — 11.

o Watch Video Solution

24. Evaluate /Lda:.
(z2 + 4)

o Watch Video Solution

w/4
25. Evaluate / log(1 + tanx)dz.
0

o Watch Video Solution
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sinx + coszx

\/sin 2x

26. Evaluate T

o Watch Video Solution

27.Solve dy + e Ysinzdx = 0.

o Watch Video Solution

28.If the sum of two unit vectors is a unit vectors find the magnitude of

their difference.

o Watch Video Solution

29. Find a vector of magnitude 5 units and parallel to the resultant of

— 4 57 - 2 ~ 3
a =2i+3j—kand b =i — 25+ k.

o Watch Video Solution
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—— —
30. Show that [m b b +??+7] :2[71)?]

° Watch Video Solution

31. Find the equation of the plane through the points (1, 2, -3), (2,3, -4)

and perpendicular to the planex+y+z+1=0.

° Watch Video Solution

32.If p is a prime and ab = 0 (mod p) then show that either a=0 (mod p)

orb = 0(mod p).

° Watch Video Solution

2 2r 2
sin_l(i) + sin_1<£) = aprove thatw— + —ycosa + L = sin’a
a b a? ab b2

o Watch Video Solution
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34. Using properties of determinants, prove

a? be ac + 2
a? +ab b? ac = 4a’b?c.
ab b2 +be

the

following

o Watch Video Solution

35. Find the tangent to the curve y = cos(z + y), 0 < z < 27 which is

parallel to the linex +2y=0

o Watch Video Solution

/\71'/3 dm
36. —_—
/6 1+ +/cotx

o Watch Video Solution

d
37. Solve the differential equation (wz + 1) & + 2zy = \/z? + 4,

dx
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| o Watch Video Solution

: : : -
38. Find a unit vector perpendicular to both of the vectors ¢ + b and

— ~ ~ ~ ~ ~ ~
a - bWhereﬁzi—l—j—i—kandb:z’+2j—|—3k.

o Watch Video Solution

39. Find the equations of the plane passing through the point (2, 1, 3)
z—1 Y- 2 z—3

1 2 3

and perpendicular to the lines

° Watch Video Solution
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